&HI3.

TR

BRI AR

ERERIXT MR

B2 ) 7 ke

NWEEF DR

SRiF PR

i ) B MLk RA R KR

199951 F81H~6H30H

T RA)li73 e s
EFIEET TUER (3) THEE (k) FYHME (mu) [RMBK (6 ME (#E) R (s 2 (845 BOM (#E) A (g)
) 1f0 21 55.9 60.2 1,608 2.0 3.1 0.5 0.0 1.5 73.8
EHmp 14 62.5 64.0 916 0.0 0.0 0.0 0.0 0.0 93.0
FEFISET TSR () EEE (ko) FHHME (wo) (FRIOBK (26) MEE (846D MR (w4 £Mf (¥ BSM (34) AL {(g)
#im el 4 60.0 50.5 1.5 11.0 0.0 0.0 0.0 15.3
mlme 4 66.5 50.3 0.0 0.0 0.0 0.0 0.0 28.8
SEBUEE TIER () THAE (ko) THORME (mL) [FMBR (B6) M (2 MR () DM ($0) B (B8 ALB (9)
e 28 63.8 6.2 12.6 2.5 0.0 0.1 60.0
s 17 64.3 0.0 0.0 0.0 0.0 0.0 26.9
PG FER () FHEE (k) THHME (mu)|FRIBR (36) D3 (8460 iR (Ea) 20 (#4) BSM (B4 ALB (g)
¥ 5 8 61.0 11.3 14.8 13.8 0.0 0.3 125.0
EEmH 6 67.0 0.0 0.0 0.0 0.0 0.0 0.0
EFIE THER () TOEE () FHHME (mu)|FRMBR (84r) MIT (BE) MR (s 20 (g6 B (#4) AW (g)
wme 3 64.0 68.9 9.3 24 .0 0.0 0.0 0.0 7.3
ggmEl o 0.0 0.0 0.0 0.0 0.0 0.0
TEPIGET THER () FHHEE (ko) FIOHME (mu) [FRIOBR (36 MR (¥46D) Mm/AR (i) £M (sa) B (Bg) AL (g)
s 1 66.0 43.0 0.0 6.0 0.0 0.0 0.0 0.0
wEHmE 2 0.0 0.0 0.0 0.0 0.0 0.0
B TIER () TS (o) TOHNE (mU)[FRIIR (ae) 0 (a0 MUR (#6) 20 () BSH (B4 AB (g)
6 M 451 13 68.9 56.1 7.3 8.6 6.1 0.0 0.0 57.1
sEQme 7 59.0 59.7 0.0 0.0 0.0 0.0 0.0 18.9




ALB (g)

A TReBEEn B FEHEm S
TR AEFIEET TFl () FHHE () FTHHME (mu) [FROEK (26 M3 (#a) MR (B 20 (e BSOS (@46)
wme 31 56.3 58.4 634 0.6 0.0 0.0 0.0 2.0 2.0
m|me 19 51.1 54.9 382 0.0 0.0 0.0 0.0 0.0 0.0
EE XS mR AEGIERET FHFE () FHBE (k) BOHME (mu) FRO0BR (m) @8 (sa) 00 e 28 (80 BSM (80 AL (g)
6y 1 451 21 65.0 57.0 0.6 0.0 0.0 0.0 3.0 0.0
m|mme 6 68.7 47.5 0.0 0.0 0.0 0.0 0.0 0.0
V& N FEGVERET TGRS (o) TIMEE (ko) FHHME (mL) |FRIBK (84 M8 (B4 MR () DM (340) G2 (EE) A (g)
6 [ 45] 32 65.5 0.4 0.1 0.0 0.0 4.4 2.4
ERme) 2 52.5 0.0 0.0 0.0 0.0 0.0 0.0
EEER KRR SEPIET FHFR () EHE () FHOHME (mL)|FRIBK (26 MIF (B MR (@) 20 (346) BSM (8@ AR (g) |
0 m 20 62.3 0.6 0.0 0.0 0.0 3.0 0.0 m
mEmme 4 67.3 0.0 0.0 0.0 0.0 0.0 0.0
BY 7Rk TEPREET FFE (o) THOHE (k) FHLME (wl) |[FROK () 05 () O0WR (86 20 (8) BSM (846  AS (g)
e 1 75.0 56.0 4.0 0.0 0.0 0.0 0.0 0.0
smEmEl 0 0.0 0.0 0.0 0.0 0.0 0.0
HEEESHIR AEGIEET FHIFRD () FHEE (ko) FHHME (mL) [FRMBR (86) MIE (860 MIUR (26) M (84) B (86 AR ()
¥ {51 g 63.4 50.8 0.0 0.1 0.0 0.4 3.4 0.0
Emme) 2 74.0 60.0 0.0 0.0 0.0 0.0 0.0 0.0
ERiZ IR REFIERET TERD () FHIRE () FTHEME (mu) [FRIEK (80) 03 (@) 0OMR (86 M () SSM (8) AL {g)
&) 8 66.4 54.6 0.0 0.0 0.0 0.0 3.9 3.1
mmme o 0.0 0.0 0.0 0.0 0.0 0.0




Ful KRB

BE X F bR

EERERI XA

Y 1 7 imbe

NHBEF MR

PRtz ke

WY A @AW E i EHE &
FEFIMEt THER (1) THEE () FHHME (mu) |fRlsk () Mm% @) MR (g 2060 (6 BOM (B6) AL ()
63 It {71 30 66.2 58.3 687 11.7 6.0 7.3 0.0 0.4 132.5
smmmel 2 56.5 56.0 688 0.0 0.0 0.0 0.0 0.0 125.5
SERISGET THER () TEE () EHEME (my) [FRIOBK (sa) Wi (2m) 0OMR (B6) 20 ($6) BSll (86) A (9)
¥ ifn 51 22 64.7 56.7 8.6 8.1 5.5 0.0 1.0 37.3
sEme 21 65.8 59.9 0.0 0.0 0.0 0.0 0.0 26.6
FEFISET THER (3) BYUEE (k) THHME (m) [FRI0BK (Ba) MIE (sa) WOMR (86) 20 (36 BSM (846)  ALB (g)
®|mey 23 66.1 8.6 6.2 6.1 0.0 3.0 88.4
Emdmet 1 66.0 0.0 0.0 0.0 0.0 0.0 1425
SEFIMET EHER () THEE () BOHME (mu) |FRMBK (aa) MET (20 0OMR (B6) 20 () BSM (86)  AB (g)
i [ 451 10 62.8 6.4 2.4 5.5 0.0 1.4 43.8
swmel 1 72.0 0.0 0.0 0.0 0.0 0.0 37.5
FERIMET EHER (F) THEE () THOHIME (mu)|RIOBR (Ba) M sa) MR (26) 20 (86) Sl (846)  AB (g)
¥ 1 51 15 66.3 56.9 9.5 2.5 6.0 0.0 0.1 84.4
HEms o 0.0 0.0 0.0 0.0 0.0 0.0
FEFISET FHER (3) TISEE (k) FORME (mu) |FRMER (a6 M (sa) MOR (26 20 (846 BCMl (86) ALB (g)
4 25 69.7 54.5 3.8 3.9 2.4 0.0 2.4 6.0
Emwime 6 65.7 66.5 0.0 0.0 0.0 0.0 0.0 0.0
FEPIEET TR (3) EMHE () FHHME (mu) [pRlnBk (pa) MR e R () 20 (36 BCH (B40) A (g)
6 1in #51) 31 68.9 53.7 6.0 6.5 1.9 0.0 1.1 '60.8
EmE 7 57.7 65.0 0.0 0.0 0.0 0.0 0.0 60.7




2Mm (8) HOM (84 ALB (g)

[RERtEF = 2T N &
AR mRER FEPHET FERE () FEE (ko) FHOHME (mu) |[FRIODEK (4 MIF (B0 mOR (86D
4 18 48.8 53.0 1,910 3.6 0.3 0.6 0.0 1.2 31.3
mme 32 53.8 56.7 686 0.0 0.0 0.0 0.0 0.0 7.7
& A FEFIERET FRFl (F) FHEE (k) FHHME (mi) |FROBK () M8 @) W0R (B 260 (2 BSM (86) A (g)
. ) I 15) 3 73.0 44.3 25.3 16.7 10.0 0.0 0.0 66.0
wmgme 14 56.9 48.1 0.0 0.0 0.0 0.0 0.0 0.8
ABHK PR FEGIMET FHFES () FHIHE (ko) THHME (mU) {FROOBK (#a) MI§ (86 MR (3840 20 (@) BESM (BiE)  ALB (g)
i) [0 5] 6 55.0 11.3 6.7 3.3 0.0 0.0 30.1
mgmF 55 50.5 0.0 0.0 0.0 0.0 0.0 0.8
EXEER AR SEGISET THER () FHOHE (k) FHHOE (mu) [ROBK (36) WET (2r) OJ9R (26) £M (86 BASM (86) AL (g) _
Hime 1 58.0 46.0 0.0 0.0 0.0 0.0 2.0 0.0 _u
wmgmE 12 57.8 0.0 0.0 0.0 0.0 0.0 1.2
BT 7k IEGIEET FHFlD () FHRE (ko) FHHRME (mL) |FROFR (&) Mm% (we) O0WR (86 20 (8@ BS0 (B6G) A (g)
) m51 1 42.0 52.5 0.0 0.0 0.0 0.0 3.5 0.0
Eme 1 49.0 57.0 0.0 0.0 0.0 0.0 0.0 0.0
NIHEEF LR SEGIEL FEREE () THEE () FHHME (wmL) |FROBK () M (e MR (86 20 (8 BSl (86 AL (g)
g il 0
|l 6 47.0 54.7 0.0 0.0 0.0 0.0 0.0 0.0
ARIZ R EFIEGET FFRD (F) FIFE (ko) FHLHME (mu) SRR () M (sr) vy (e £ (Bw) B2 (¥E) A (g)
Lofinkty 0
mmmpl 3 53.0 60.7 0.0 0.0 0.0 0.0 0.0 0.0




B SRSl olink=s

FA R FEGIEE TSR () TIEE (k) THHAOE (mU) (RO (a6 M (B MR (ga) 200 (#s) BCM (B6) AL (g)
% [ ) 5 66.4 52.5 988 4.4 0.0 0.0 0.0 0.0 199.8
mgme 8 59.6 58.6 810 0.0 0.0 0.0 0.0 0.0 141.4
B K2R FEGIET TEER (3) THURE () FHHME (mu) [RIOBK (86 M (a6 mOWR (86 20 (B6) BCH (#6) AL ()
L1k 9 66.7 52.1 2.9 7.8 0.0 0.0 0.0 51.2
mmg 5 67.6 48.2 0.0 0.0 0.0 0.0 0.0 23.8
2B SR Pt TSR () ERGE () FIOHRMNE (mo) [FRINBK (B M3E (Be) VR (6 20 ($6) BoM (B)  AB (9)
i m 17 64.4 4.5 2.9 0.0 0.0 2.8 101.7
mRmne 2 725 0.0 0.0 0.0 0.0 0.0 82.5
EEERI R EFIMET THER (F) THBE (k) FIHME (mu) [FRIDER () miF (86 mOR (26 20 (e BCM (B  ALB (g)
) [ 457 3 69.0 4.7 18.0 0.0 0.0 0.0 37.5
sHmF 1 56.0 0.0 0.0 0.0 0.0 0.0 0.0
BBV U 7k FEGINGE TR () TRE () FIHNE (mu) FREEK () M3F (B4) MOMR (86 20 (2a) BOM (B) AL (g)
it 0
mWmf o
HHEEESFRR FEHIE TOEE () THEE (k) TEHME (mu) |[FRIDBE (26 Mm% e 0OMR (80 20 (6 BCM ($4)  ALB (g)
Wme 0
e 3 63.7 50.7 0.0 0.0 0.0 0.0 0.0 22.0
BRIz OIS ERER () FHEE (k) FIHHME (mu) |[FRIO5K ae) Mm% () O0R (86 2m (86 BSl (86) A (g)
Lol 4 73.3 49.3 3.5 9.0 0.0 0.0 0.0 27.5
mWme 1 59.0 53.0 0.0 0.0 0.0 0.0 0.0 0.0




NPRRER

EERTIEIE
TEGINET THFi () TEE (ko) FHHME (mL)
3857

33.3

51.3

14.7

11.7

7.5

0.0

SEEiM £
FRIMBK (%4:) M (6 MR (Be) 20 (8w BSM (3865)
1.3

ALB {g)
733.8

%6 110 51 6

0

e el



EREEAE | SRR

A« ORF IR
AEFIRK 35 f (B : 2161, \|EHmA :  146)

ES| 5 |FieF) [$E(kg) | KAL) | M u) | MRu) | 20 (u) [ESE(mL)| ALB (g)
1] % 46 53.0 4 0 0 0 0 0
2| B 60 72.0 0 0 0 0 1,165 50.0
3] B 66 49.0 0 0 0 0 0 70.5
4 B 65 56.0 ) 0 10 0 ) 50.0
5| B8 52 76.0 0 0 0 0 0 37.5
6] B 66 57.0 0 0 0 0 0 22.0
7| B 52 77.0 0 0 0 0 0 25.0
R E: 61 55.0 2 10 0 0 0 220
g = 52 57.0 0 0 0 0 1,470 0

10] B 66 49.0 4 0 0 0 0 70.5
11] =z 74 60.0 0 0 0 0 0 412.4
12| & 56 58.8 4 0 0 0 0 144.0
13| B 58 74.0 0 0 0 0 0 11.0
14| B 61 60.0 10 5 0 0 0 531.5
15| 5 65 58.0 0 0 0 0 0 87.5
16] B 70 65.0 0 20 0 0 0 44.0
17| & 63 48.0 2 0 0 0 0 1345
18] B 50 72.0 0 20 0 0 0 0
19] = 49 53.0 0 0 0 0 850 0
20 % 65 56.0 0 0 0 0 0 0
21| & 65 57.0 3 10 0 0 0 44.0
22| B 63 71.0 2 0 0 0 0 125.0
23 & 72 55.5 2 0 0 0 0 134.5
24| B 76 56.0 2 0 0 0 0 0
25| B 66 70.9 0 0 0 0 0 12.5
26| B 54 60.0 0 0 0 0 0 216.0
27| B 57 69.6 0 0 0 0 0 75.0
28| = 22 67.0 0 0 0 0 400 12.5
29 B 67 69.5 0 0 0 0 0 62.5
30| B 70 66.0 0 0 0 0 0 50.0
31 3 28 55.0 0 0 0 0 900 75.0
32| B 46 65.0 0 0 0 0 400 62.5
33| B 34 76.0 0 0 0 0 1,170 0.0
34| B 69 62.0 4 0 0 0 ) 50.0
35| & 63 53.0 0 0 0 0 0 220.5

it 2049| 2159.3 42 65 10 0 6355 2852.4
B2 58.5 61.7 1.2 1.9 0.3 0.0 181.6 81.5

ERRE | EEXEEHEER
fiEH - O TR

EBIE - 8 # (MMl :  4F, WM : 48

S| 53 [F0(F) [BE(kg) | Frlsku) | M () | fMR(u) | 20 (u) |BSM(mL)| ALB(g) |
1| B8 59 57 6
2 B 68 47 4 24 61
3] B 59 57 22
4 B 66 53
5| %« 73 38 82
6| B 61 53 12
HEE:S 52 45 2 2
8| B 68 53 11

E 506 403 6 44 0 0 0 176

BEZS 63.3 50.4 0.8 5.5 0.0 0.0 0.0 22.0




ERERNR « RAEKKZHER

R - OFF TR
EHIE 45 | (smf: 284, |MAOE - 176)
S| 15 |FE() |KE(kg) | FMHRW) [ 0% (u) [ MRW) [ £ (u) |BE=m(mL)] ALB (@) |
1| B 72
2| B 66 50
3| 8 72 4 44
4 5 54
5] 8 75 82
6] B 66 2 12 88
7| 3 71 22
8| % 76 10 14 10 11
g} B 42 4 16 139.5
10| BB 55 86
11| B 58 2 2 33
12| 5B 61 8 18 44
13| % 41 800 44
14{ B 56 16 30 44
15| 5B 64 22
16| %« 75 20 22
17| % 72 2 83
18| B 43 2 33
19| B 64 20 119
20| 2 59 44
21| 3 70
22| B 83 ) 50
23| 5B 56 22
24| B 73
25| B 62 8 16 22
26| B 68
27 & 67 4 6 95.5
28 & 60 10
29| 3 63 6 10 33
30| 3 69 2 14 119
31| %& 44
32| % 64 14
33| B 66 4 11
34| B 58 12
35{ & 59 2 12 81.5
36| B 73 66 108 40 208
37| B 70 11
38| § 71 12 16 R
39| B 64 4 86
40| H 61
41| & 69 75
42| B 74 2 2 33
43| B 60 14 14 124
24| B 68 2 11
45 B 66 44
&t 2880 0 174 354 70 0 800 2136.5
FE 64.0 0.0 3.9 7.9 1.6 0.0 17.8 47.5




MG | EEER R
fEF - ORFEIRR

A% 14 Bl (nfl: e, MmN : efl) ,

51 5 [FRb(F) [FE(kg) | FMmEBku) | W% (u) | f0dRu) | 20 (u) [BSH(mL)] ALB(g) |
1| & 49 5.2 400

2| B 72

3| & 68 4

4| & 58

5| #& 57 20 25.0
QEE 45 4 25.0
7] 2 65

8| 3 61

9| B 68 4 4 25.0

10 B 60 20
11| B 77
12| B 6%
13| 8 74 20 12.5
14] 5 67 82 110 50 912.5

&t 890 65.2 90 118 110 0 400 1000
1 63.6 4.7 6.4 8.4 7.9 0.0 28.6 71.4
EAmNE BB U 7Rk
G : OEFRR
EFIE : 3 # (#mfl: 34, |WEE : 0f)

B5| 4R (F8(F) [#E(kg) | FHMuBku) | MIF (u) | Mdvdk(u) | 20 (u) |§2M(mL)| ALB (9)
1] B 65 75.6 16 36 22
2| B 51 74 8 24
3[ B 76 57 4 12

it 192| 206.6 28 72 0 0 0 22
it 64.0 68.9 9.3 24,0 0.0 0.0 0.0 7.3
EmENL  LNEEFESHR
fESY - ORF kR
EFI¥ : 3 f (g :  1F, WEMDE 260)

=S| 45 |E8() |FE(kg) | Flmbkw) | @i () | fMRu) | 20 (u) [BSMmL)] ALB(g) |
1] & 66 43 6
2
3

H 66 43 0 6 0 0 0 0

BE3S 22.0] . 14.3 0.0 2.0 0.0 0.0 0.0 0.0




EMERRE : fRiRHiR

EF - OFF LIk
TEFIEL : 20 # (ol : 13/, EHOE 760
&5 | &5 |Fiv(F) [#FE(kg) | k) | O () [ w0k [ £0 (u) Hcfi(mL)| ALB(g) |
1| B 281 50 2
2] B 72 58 8 12.5
3| & 64 45 12 60.0
4| & 62 70 2 12 60.0
5 B 58 74
6| & 43 67 12.5
7] k& 62 56 8 8 25.0
8| B 69 57 2 4 60.0
9| B 54 67 25.0
10| % 75 50 20.0
11| S 76 47 24 28 40 75.0
12| & 64 55 8 25.0
13| B 68 56 4
14| B 51 61
15| B 74 58 2 8 100.0
16| B 73 42 12 6 150.0
17| & 63 64 20
18| 5 68 71 35 22 20 175.0
19| #& 64 47
20f % 68 52 75.0
Ei 1309 1147 95 112 80 0 0 875
1) 65.5 57.4 4.8 5.6 4.0 0.0 0.0 43.8




EREBAE | NLINKERER
EEF) - @A THR BRFTR Badiy

FEGIST - 50 # (&mel: 314, WmHmE: 196)

ES | 43 [F#() [FE(kg) | Flbkw) | 0% (u) | fidR) | 20 (u) (BESM(mL)| ALB(g) |
1| B 39 86.0 8 0 0 0 295 0
2| & 65 59.0 2 0 0 0 1,200 0
3| & 74 43.0 0 0 0 0 1,200 0
4| & 64 47.0 0 0 0 0 900 0
5] & 73 62.0 0 0 0 0 770 0
8| & 58 50.0 ) 0 0 0 600 0
7t & 63 50.0 0 0 0 0 600 0
8| % 50 61.0 0 0 0 0 590 0
9| & 66 66.0 0 0 0 0 590 62.5

10| % - 30 72.0 0 0 0 0 540 0
11| 5 66 60.0 0 0 ) 0 460 0
12y %« 76 43.0 2 0 0 0 400 0
13| = 20 51.0 0 0 0 0 370 0
14| BB 20 51.0 0 ) 0 0 350 0
15| % 50 52.0 0 0 0 0 330 0
16| % 68 57.0 0 0 0 0 320 0
17| %& 48 60.0 0 0 0 0 310 0
18| B 57 71.0 0 0 0 0 300 0
19| % 63 60.0 0 0 0 0 300 0
20 %I 60 66.0 0 0 0 0 300 0
21| %& 41 46.0 0 0 0 ) 300 0
22| % 70 34.8 0 0 0 0 270 0
23| & 74 48.5 0 0 0 0 250 0
24| =& 48 65.0 0 0 0 0 250 0
25| 5 50 53.0 0 0 0 0 150 0
26| & 60 59.0 0 0 ) 0 150 0
27| & 48 99.0 0 0 0 0 100 0
28| B 73 67.0 0 0 0 0 50 0
29| & 58 44.0 0 0 0 0 50 0
30| 3 61 71.0 4 0 0 0 0 0
31| B 51 56.0 2 0 0 0 0 0
32| & 57 52.8 0 0 0 0 0 0
33| & 54 54.0 0 0 0 0 0 0
34 & 58 44.5 0 0 0 0 0 0
35| B 76 67.0 0 0 0 0 0 0
36| & 76 41.8 0 0 0 0 0 0
37| & 58 50.0 0 0 0 0 0 0
38| %& 25 43.0 0 0 0 0 0 0
39| B 21 85.0 0 0 0 0 0 0
40| & 54 40.7 0 0 0 0 0 0
41| B 44 79.0 0 0 0 0 0 0
42| & 51 46.0 0 0 0 0 0 0
43| % 72 48.0 0 0 0 0 0 0
44 % 48 54.0 0 0 0 0 0 0
45| % 33 58.0 0 0 0 0 0 )
46| B 55 71.5 0 0 0 0 ) 0
47| B 58 57.5 0 0 0 0 0 0
48| % 39 48.5 0 0 0 0 0 0
49| = 28 63.5 0 0 0 0 0 0
50| & 83 57.6 0 0 0 0 0 0
Bt 2714| 2852.7 18 0 0 0 12295 62.5
BE3S 54.3 57.1 0.4 0.0 0.0 0.0 245.9 1.3

|
e
(=]

|




ERMRR ARk
HEF] : QA TIRBAES B

AL : 27 6 (M : 216, |RAMF : 6%

&5 | 5 [Fiv(F) [FE(kg) | Flusk(u) [ M3 (0 [ whRw) | 20 () BSM(mL)| ALB{(g) |
1| B 80 60 800
2 & 44 51
3| & 75 65
4] % 72 37
5[ & 87 36
8] % 53 56 800
7| & 65 68 600
8| B 59 62 800
9| & 66 63 700
10| = 74 52 600
11| % 57 53
12| & 54 55 700
13| & 54 58 800
14| &t 91 51 4
15| %& 69 46 600
18] % 67 76 800
17| & 16 64 800
18] B 71 60 2
19 & 50 55 800
20| & 62 46 900
21| & 76 57 400
22| B 71 68 600
23] & 80 49 530
24| & 77 43
25| % 77 42 6
26| & 86 49 600
27| B 63 60 650

H 1776 1482 12 0 0 12480 0
) 65.8 54.9 0.4 0.0 0.0 0.0 462.2 0.0




EMBM R ¢ LN

EF . QA THRAET MR

I 34 # (@mel: 3264, \EOE : 260
S| 45 |FW(F) [FE(kg) | FRfukk(u) | mif (u) | wivk) | 2m (u) [BSH(mL)| ALB(g) |
1| & 43
2] & 62
3| & 66 800
4| % 81 800
5| #& 44 1,200
6| B 53 800
7| % 68 1,400
8| & 71 800
9| % 75 800
10] % 66 800
11| % 65 800
12| % 75 800
18] & 69 1,000
14| % 65 1,000
15| % 50 8 4 400 44
16] %= 63 800
17] % 59 800
18] % 70 800
19| % 74 1,000
20 %= 66 1,200
21| & 61 1,200
22 % 61 800
23| & 75 800
24 & 63 1,000
25| & 75 1,600
26| & 78 800
27| k& 63 800
28] & 76 1,200
29| & 69 800
30| & 42 800
31| ® 54 800
32| B 61 800
33 & 69 800
34| B 89 4 33
B 2201 0 12 0 0] 28,200 77
BEZ3 64.7 0.0 0.4 0.1 0.0 0.0 829.4 2.3




ERMBE | EEER AP
TERY © DA TR BaES & Rl

ERI% - 24 @  (mmfl: 200, \HOF 46D
S| 4 |FH(F) [#E(kg) | Fliku) [ M () [ fhik() | 2@ (u) |B2M{mL)] ALB (g)
1] B 41 69
2| B8 61 54 400
3| & 47 2
4| & 77
5] & 84
6| & 72 51 800
7] & 68 66 600
8f & 63 51 4 770
9| & 55 58 300
10| # 49 49 1,100
11| % 52 59 800
12 & 63 53 600
13| % 58 43 1,200
14| & 57 50 810
15| & 57 43 400
16| % 77 4
17| & 87 2
18| & 70 50 800
18] & 67 52 1,200
20 % 54 65 300
21| = 80 48 800
22 & 67
23| B 39 50 800
24| & 70 59 300
=t 1515 971 12 0 0 of 11,880 0
A1) 63.1 40.5 0.5 0.0 0.0 0.0 499.2 0.0
EARE B Pk
R @A TRRBES B
TEGIEK : 1 6 (@mfl: 14, \EHmse : of)
B5 | £5 |Fim(F) |thE(kg) | FRMBku) | M ) | vRw) [ 20 () [E2BmL)] ALB (g)
1] & 75 56 4
&t 75 56 4 0 0 0 0 0
EH 75.0 56.0 4.0 0.0 0.0 0.0 0.0 0.0
ERiER S : LNELEFEEHR
5 : DA TR B
FERIE 11 i (ShmF ;. ofl, mEBmE : 280
BS | A [Fm(F) |$E(kg) | FMmBkw) [ M ) [ RE) [ 20 () [A2Hm)] ALB (@) |
1| & 52 52 800
2] % 72 51 800
3] & 56 54 800
4| % 83 50 400
5| B 57 69 800
6| B 66 72
7] & 62 49 900
8| % 82 48
9 B 67 59 800
10| % 65 35 1 4
11 & 57 38 800
H 719 577 0 1 0 4 6100 0
3 65.4 52.5 0.0 0.1 0.0 0.4 554.5 0.0




EAHE  AREAR
FERS : @A TR R

LRI 8 ffl (Mm@ : s, WHMH :
B3] 59 [Fb(F) |[BE(kg) | FMbR(u) | ME (u) Zf (u) |BeMi(mL)] ALB(g)
1| % 62 58 800
2| & 69 45 705
3| & 69 39 800
4| %& 62 58 800
5| B 57 70 800
6] & 72 38 800
7 & 69 69 800
8] B 71 60 800 25
Et 531 437 0 0 0 8305 25
B 3] 66.4 54.6 0.0 0.0 0.0 788.1 3.1




EREEE  ANKERR
TEG] : QUER/ S /SR (28 L)

TEFI%K 32 & (|l : 304, |Rme : 24

5| 45 |FiwF) [FE(kg) | FEbk(u) | mIF ) [ W0HKu) | £0 (1) BCf(mL)| ALB (g)
1| B8 43 52.0 28 30 0 0 0 452 .5
2| & 59 51.8 50 45 90 0 0 29.0
3] % 75 51.4 24 15 30 0 0 187.0
4| B 84 51.0 20 15 20 ) 0 156.0
5| B 68 57.0 20 0 10 0 0 67.5
6| % 68 54.0 18 15 10 0 0 0
7| B 71 69.0 16 0 10 0 0 310.0
g B 60 70.0 16 30 20 0 0 801.5
9| 5 63 52.0 12 0 0 0 0 0
10| B 70 68.5 12 0 0 0 0 0
11| B 62 61.0 10 5 10 0 0 0
12| B 63 59.0 10 0 0 0 0 8.8
13| 5 68 53.8 10 10 0 0 0 137.5
14| BB 85 64.2 10 0 0 0 0 106.5
15| 5B 73 66.0 10 0 0 0 0 210.0
16| 5B 64 51.0 10 5 0 0 0 150.0
17| 5 56 66.0 10 0 0 0 0 26.4
18| % 66 75.0 10 10 10 0 0 98.5
19| 5B 58 70.0 10 0 0 0 0 109.0
20| B 75 58.0 10 0 0 0 0 202.1
21| & 65 43.0 8 0 0 0 0 133.0
22| & 75 50.3 6 0 0 0 0 22.0
23| B 65 60.1 6 0 0 0 0 125.0
24| B 75 69.2 4 0 10 0 520 303.5
25| B 59 56.0 4 0 0 0 0 136.0
26| B 69 48.0 2 0 0 0 0 130.0
27| % 55 57.3 2 0 0 0 805 0
28| B 76 38.8 2 0 0 0 0 22.0
29| B 59 72.0 2 ) 0 0 0 0
30| &= 50 51.7 0 0 0 0 0 251.0
31| B 61 60.3 0 0 0 0 0 )
32] B 77 53.0 0 ) 0 ) 1,055 50.0
&t 2098| 1860.4 352 180 220 0 2480 4224.8
B33 65.6 58.1 71.0 56 6.9 0.0 77.5 132.0




EMEME | ERARm
LEGI : GO/ S /SR (24%LL )

EGIE 43 # (Emmf : 224, #ﬁ:ﬁxﬁn@ﬂ : 214)

E5| 4B |FH(F) |[BEkg) | FMBku) | M (u) | AR | £0 (u) [BESMH(mML)| ALB (g} |
1] =B 58 59 12 10 10 33
2] & 74 55
3| 8 72 48 28 24 20 42
4l B 70 46 20 24 10 41
5| = 67 77
6] B 72 54 33
7| & 73 48 12 14 20 42
8] & 73 48 11
9| % 72 52 22

10 B 60 62
11] B 57 84 77
12| 2 61 73 33
13] B 77 65 22
14] B 40 71 22
15 % 62 44 8 4 53
16] B 81 57 55
17| 2 25 54 800 33
18| & 77 65 18 20 22
18] 2 50 66 44
20 B 75 68 6 6 31
21| & 69 60 4 8 10 42
22| B 75 54 8 8 55
23| 2 65 71 22
24| B 65 49 600 53
25| B 60 61 4 4 44
26| & 73 46 11
27| B 76 42 44
28] & 65 56 42
20| 98 70 65 4 22
30| 3B 63 61 600 44
31| B 64 56 6 6 10 1000 31
32| B 50 65 18 16 800 55
33| B 63 62 11
34| B 63 72 6 4 30
35| B 57 70 33
36| 2 60 61 800 11
37| B 64 50 20 10 20 64
38| B 77 48 119
39| & 75 51 4 )
40| B 56 50 8 6 20 20
41| B 58 50 33
42| & 77 60 4 8 53
431 %« 66 48 33
Bt 2805 2504 190 178 120 0 4600 1380
Ey 65.2 58,2 4.4 4.1 2.8 0.0 107.0 32.1




EAMBE | R BARKERHR

FEF - QOUNE/ S 1 /ST (o8l )

EFIER 24 6 (Hmel: 236, Mo 16)

ES | 55 |F(F) [FE(kg) | FRMIku) [ MF (u) [ M)R(u) [ 20 (1) [ESh(mL)] ALB (9)
1] & 73 16 20 148 5]
2 & 70 6 61.0
3| = 68 400 50.0
AE: 55 1,200 61.0
5| B8 55 16 20 10 400 125.0
6| & 48 1,200 50.0
7] & 69 4 6 1,200 72.0
sl % 70 8 6 83.0
A EE 40 400 75.0

10| & 69 14 12 10 25.0
11| B 63 2 1,200 97.0
12| E 75 6 4 61.0
13 & 77 14 16 20 60.0
14| & 72 10 4 119.0
15| B2 70 18 16 30 1,200 130.0
16| 81 46 46 20 136.0
17| 2 77 4 191.0
18] & 70 1,200 50.0
19] B 68 1,200 72.0
20| B 71 16 10 136.0
21| 8 73 10 1,200 84.5
22 & 36 1,600 72.0
23] B 70 12 8 20 1,200 75.0
24| B 66 1425
B 1586 0 198 142 140 ol 13,600 =2176.5
BEZ3 66.1 0.0 8.3 5.9 5.8 0.0 566.7 90.7
ERNE | EXER KRRk
EF : QbR N1 /XRAT (28 L)
FEFI% - 11 # (Hme): 1o/, |EME - 16

&S| 45 |Fiv(F) |[FE(kg) | Fmdku) | 0¥ ) | k) | 260 (w) [B2m(mL)] ALB (g)
1] B 33 4 6 15 50.0
2| = 40 78 1,200 25.0
3] B 77 53.8 800 50.0
4| & 68 12 4 25.0
5] & 55 8 6 37.5
6| =B 77 78.1 6 2 10 800 100.0
7] B 79 16 6 30 37.5
8| = 69 6 50.0
9| B 66 6 50.0

10| % 64 6 12.5
11| B 72 375

=t 700 209.9 64 24 55 0 2,800 475
F15 63.6 19.1 5.8 2.2 5.0 0.0 2545 43.2




EmREE BT Y 7Rk
FEG] : DB/ N4 /X2 (28 L)

HEHIE 15 H  (moE: 1541, BRng oFl)
=] 159 [E6(F) [FEkg) | FlBkw) | 0 ) [ k) | 260 (u) [BES0(mL)] ALB(g)
1| 2 62 66.6 20 16 20 77
BE 50 54 10 6 10 33
3| 8 59 61 10 108
4| = 76 70 6 86
5| #& 67 38.2 12 4 66
6| B 58 60 8 4 10 119
7| & 81 46.4 2 44
8| & 67 54 6 95
9l B 72 46.8 10 117
10| & 68 53.5 12 10 120
11| 5B 68 60 12 10 119
12} B 60 60.6 28 8 30 141
13| & 76 53 2 33
14| B 70 67.7 4 86
15| = 60 61.2 400 22
E 994 853 142 38 80 0 400 1266
E1y 66.3 56.9 9.5 2.5 6.0 0.0 26.7 84.4




ERENE : WNEEFESHk
FEF : DB/ A IR H (2B )

TEGIE : 31 f (mOgl: 256, \HOF : 66)
ES | 55 |Fm() |hE(kg) | Flbku) | M (u) | modk(u) [ £@ (u) [BESimL)] ALB (g)
1| B 74 58.8 800
2| &8 81 51.5 4 4
3| % 68 48.4 4 600
4| % 79 40.5 2
5| 28 49 64.5 600
6| B 70 42 6 4
7] B 73 59 800
8 % 68 63.5 6 6
gy B 61 60.7 1200
10] 5 74 57 2 6
11| B 74 50 18 15 20
12| & 62 62 800
13| 2 63 56.4 800
14| % 71 48.2 12 14 10
15| & 70 49 900
16| B 67 59 800
17| 8 74 58
18] B 72 59
191 B 73 61.5
20| % 70 37.2 750
21| B 62 69.5 1200
22| B 76 70 4 16
23| & 52 80
24| 5 51 64
25| B 77 73.5 20 24 20 150
26| B 76 62 1000
27] B 72 76.5
28] %k 56 38 8 4
29 & 75 32 4 4 10
30 & 70 52 6 800
31 X 75 57 800
I 2135 1760.7 96 87 60 0 12150 150
F1H 68.9 56.8 3.1 3.1 1.9 0.0 391.9 4.8




